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QUESTION 1

A vRealize Automation administrator needs to allow users to revert their machines to their initial deployment state.
What should the administrator do?

A. Enable the Reprovision option in the blueprint.

B. Enable the Snapshot option in the blueprint.

C. Enable the Linked Clone option in the blueprint.

D. Enable the Destroy option in the blueprint.

Correct Answer: A

QUESTION 2

A vRealize Automation user requires the ability to view and update all cost information for a vRealize Business Standard
installation.

What is the most restrictive role that provides these permissions?
A. Business Management Controller

B. Business Management Administrator

C. Business Management Read only

D. Business Management Administrator and Tenant Administration

Correct Answer: B

QUESTION 3

A tenant has requested a custom message in the vRealize Automation console. What role is required to make this
change?

A. system administrator

B. tenant administrator

C. business group manager
D. support user

Correct Answer: B

QUESTION 4
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An administrator discovers that the same ten custom properties are used for a machine blueprint.

What is the best solution to avoid having to always enter the same ten custom properties for a blueprint?
A. Create a Property Set xml file and upload to the Build Profile.

B. Create a Property Set xaml file and upload to the Build Profile.

C. Create a Property Set xml file and upload to Advanced Service Designer.

D. Create a Property Set xaml file and upload to Advanced Service Designer.

Correct Answer: A

QUESTION 5

When adding an Active Directory Identity Source, which two fields are required? (Choose two.)
A. Login User DN

B. URL

C. Domain alias

D. Active Directory Domain Controller Name

Correct Answer:. AB

QUESTION 6

Refer to the Exhibit.
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While building an application blueprint, the administrator cannot add a vPostgres database service to the new operating

system, as shown in the exhibit.

What is needed to resolve this?

A. Drag and drop vPostgres from the Services menu onto the new operating system.

B. Delete the current operating system and deploy a new Database Server that includes vPostgres.

C. Drag and drop a vPostgres Application Component to join the existing operating systemand vPostgres objects.
D. Add an External Service Instance Profile to the Deployment Environment.

Correct Answer: A

QUESTION 7

Once an administrator has added a new property definition to the Properties Dictionary, in which two places can it be
used? (Choose two.)

A. In a Build Profile

B. In a Machine Blueprint
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C. In an Entitlement
D. In a Service Blueprint

Correct Answer: AB

QUESTION 8

Which encapsulation protocol does NSX support when integrated with vRealize Automation?
A. Stateless Transport Tunneling (STT)

B. Virtual Extensible Local Area Network (VXLAN)

C. Generic Routing Encapsulation (GRE)

D. Equal Cost Multi-Path (ECMP)

Correct Answer: B

QUESTION 9

Senior IT leadership wants information to help determine workload placement and tradeoffs between buying new

hardware or using a public cloud provider.

What VMware product provides that information?
A. vRealize Business

B. vCenter Chargeback

C. vCenter Configuration Manager

D. vRealize Operations

Correct Answer: A

QUESTION 10

Application Services relies on vRealize Automation for which two parts of a typical workflow? (Choose two.)
A. Catalog Management

B. Entitlements and Approvals

C. Application Blueprints

D. Cloud Templates

Correct Answer: AB
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QUESTION 11

An administrator has been tasked with removing a secondary datacenter from vRealize Automation Center. After
removing the secondary datacenter from the locations file, the administrator notices that it still appears on the Confirm
Machine Request page.

What additional step must the administrator perform to completely remove the secondary datacenter?

A. Remove the Data Name from the WebSite\XmIData\DataCenterLocations.xml file.

B. Edit any compute resources associated with the secondary datacenter and reset the location to zero.

C. Remove the CustomDataType from the WebSite\XmIData\DataCenterLocations.xml file.

D. Edit any compute resources associated with the secondary datacenter and reset the location to blank.

Correct Answer: A

QUESTION 12

Health badge score of a vCenter Server to suddenly drop to 0?
What is a possible reason for the

A. The vCenter Server has lost connectivity to a datastore.

B. The vCenter Server Inventory Service has stopped responding.
C. The vSphere Client cannot connect to vCenter Server.

D. The vCenter Server virtual machine CPU utilization is at 100%.

Correct Answer: A

QUESTION 13

A Tenant administrator needs to assign a role to a group to give them the right to create, modify and delete
applications in Application Services.

What is the role that will grant the group the minimum required permissions?

A. Application catalog administrator

B. Application architect

C. Service architect

D. Application publisher and developer

Correct Answer: C
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QUESTION 14

You are creating an endpoint for vCloud Air. You need to set up multiple vCloud Air organizations as separate
endpoints.

What condition must apply?

A. You must create reservation policies for each organization.

B. You must allocate network segments for each organization.

C. You must have account administrator permission for each organization.
D. Each organization must use IP address, not FQDN.

Correct Answer: A

QUESTION 15

What role does a user need in order to request and manage machines on behalf of other users?
A. Fabric Group Manager

B. Tenant Administrator

C. laaS Administrator

D. Support User

Correct Answer: D
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